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1F&EY 1FR&ERY
BEMOREH (B L 7= 100 FRE LA ) (B& L7=% 100 KRB C)
—FETOE=E 19,100 M 5,200 H
[75, 300 F4] [33, 400 ]
3 ~b /= 27, 700 /M EHBEFH TR 10, 500 4 EFHBEFH TR
[al [163, 100 /4] L7=%8 [78, 200 M] L7=%8
* 6~10 = 41,200 M EHBEFH TR 18, 600 [ EFHBEFH TR
=2 [254, 900 F4] L7=%8 [125, 500 9] L7=%8
E| 11~30F 54, 600 EHBEFH TR 26, 600 M EHFEEFH TR
[493, 500 4] L7=%8 [246, 000 9] L7=%8
31~50 = 93, 000 EHBEFH TR 49, 600 M EFHBEFH TR
[875, 600 4] L7=%8 [440, 900 9] L7=%8
51~100 = 152, 600 [ EHBEFH TR 85, 300 M EHFEEFH TR
[1, 497, 900 M] L7=%8 [758, 000 F4] L7=%8
101~200 &= 244, 800 [ THFEFHTR 140, 600 THFEEFHTR
[2, 762, 500 H] L7=%8 (1,399 600 ] L7=%8
201~300 = 298, 500 [ THFEEFH TR 172,900 THFEEFHTR
[3, 942, 700 M] L7=%8 (1,995 000 ] L7=%8
301 B~ 317,700 M EFHEBEEFPH TR 184, 400 [ EFHBEEFH TR
[4, 827,600 H] L7=%8 [2, 439, 400 H] L7=%8




